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V04-000" sgadaremh o '§5EC100E BLidRish KETTSACHRSESTS AR P )

RMSTEST,<TEST RECORD LOCKING>,<GBL,LONG>

wn

$BEGIN RMSTESTS.009

OO~
L]

.ENABL DBG

$RHSD$F
.NLIST MEB

.
+ Macros:

«MACRO BUFF NAM,SIZE

.BLKB _ SIZE
NAM'BSZ==S1ZE
.ENDM  BUFF

NAM'BUF :

.MACRO TYPE STRING, 7L

<STRING>
BLBC vgasos;rv L

#$S.TMPX , CMDORAB+RABSL RBF
#3$.TMPX1, CMDORAB+RABSE RSZ
$PUT 2agacnoonAa.Enn=nspoar_znnon

—

.ENDM  TYPE

+MACRO WTTYPE STRING
SWAIT  RAB=CMDORAB
TYPE <STRING>
.ENDM  WTTYPE

+MACRO STORE STRING,PRE

- SAVE
PSECT __SRMSNAM
g8 THPX=C

RE

ASCI1 XSTRINGYX
$$.THPX1=,-$8. TMPX
.RESTORE
"ENDM

= = = s md il =l leleleleleleclelelelclelelalel=l=l=]

; store any carriage control info

= =00 0000O0O0OOVVVV VYV VVVI0DOOCO000O0OCO0D00 ~NNNNNNNNNNOO-OONO~
OO0 NN AN = O O 00 NN N FS AN = © 0 00 NON N 8N N = OO0 00 NN NS N = O
=
o
<
=

(wlelelelalalelalelelelelelnlal=lslslsleleleleleleleelelelelele]

B e e T B ]

(===l

—

STORE




K10
Al T toss Ao SRR QS R e ™ G

11;
11
1 .MACRO a;s N TSTNAM
119 STORE  <TSTNAM>
11 MOVL cz .TMPX ,BEG DESCR+4  : addr
113 movL  #8S.TMPx{,BEG_DESCR : Len
1 BSBW gesrur
120 .ENDM isxn
1 .MACRO FINISH TSTNAM
1 STORE <1§tnun>
1 MOVL  #$S.TMPX,FIN DESCR+4  : addr
1 movL  #$S.TMPx{,FIR_DESCR : Llen
125 BSBW  FINPUT
1 9 .ENDM FINISH
1 .MACRO FIELD FLDNAM
1 s STORE <rkounn>
1 MOVL  #SS.TMPX,FLD DESCR+4  ; addr
8 130 movL  #$S.TMPX{,FLB_DESCR : len
00 13 BSBW  FLDPUT
0000 1 ; .ENDM  FIELD
8088 1 .MACRO MBPT, 7L
L v Y.L
0 134 BLBC ERBOSIT
Y
0000 1 9 .ENDM  MBPT
0000 138
0000 139




L 10
V04600 195, Toree poreom. '§25EC1gRE BLidhish MRS TSRR M P )

000 1& .PSECT _ RMSTEST,GBL,LONG
4 .ALIGN CONG
143 TSSTART:
144 LOCK_FAB::
}6 FAB FAC=<GET ,PUT,UPD>,DNM=<TSTSDISK:.FIL;1>,shr=mse,nam=namblk
129 RAB1: $RAB ;gg-*gc=agngtgar-chsur.usz-chasz.nérchxnur.-
s =
84 1&8 RAB2: SRAB  FAB=LOCK FAB,UBF=LCK2BUF,USZ=LCKBSZ,~
$ 14 nar=5 K2BUF ,RSZ=15,ROP=ULK ,KBF =KE Y
D8 150 UFF  LCK 8
1A0 1 } UFF bcxé. 0
00000000 0268 152 KEY .LONG

=2




RMSTESTS TEST RECOR 3
V04-880 EST RECORD LOCKING

M10
'§5ERCI00L BL:ia0is HOETRRACIRRSESTS R 1

el

Ol g RMTSTEST SA::
1 EGIN <LOCKING TESTS>
. 1 ’ OPEN  FAB=LOCK_FAB,ERR=REPORT_ERROR
FD6B' 30 1 !SBU ERR
J 9 1 s CONNECT RAB=RAB1,ERR=REPORT_ERROR
FDS7*' 30 As 1 SBvW ERR
: A 160 CONNECT RAB=RABZ2,ERR=REPORT_ERROR
S7 503;022 DE gA } ] ngexL 5231 R7 7 will be addr of rabl
b el w e addr of ra
S8 FDCE CF DE EE ]g% MOVAL RABZ2,.R8 ; r8 will be addr of rab?2
C?7 165 ;
v 9 : force lots ?f collisions
8 C7 167 ; 1st stream 1 does a get (seq., so 1st record), locking it
(4 168 : the 2nd stream asks for the same rcgord. but fails
02C7 19 : the 1st stream releases and the 2nd stream takes it
8 ¢ 119 : usfn? manual locking the 2nd stream gets Eho 2nd record (locking 2 records)
C? 171 ; the Tst stream asks for the 2nd record, finding it locked
02C7 17§ s until the 2nd stream frees both records
02C7 173 ; at which time the 1st stream takes the 2nd record
‘8"65 178 ¢
(W4 17 $GET RAB=R7,ERR=REPORT _ERROR ; get 1st rec., locking it
oz 3o Gae N eh B A S A
= : this shou a
oovezan o 39 o1 OBFE 1R L ROAMss
02EB 181 FIELD <RMS RETURNED STATUS CODE>
SA FD90 CF DS 8 Og 1 i MOVAL RAB2,.R10
FCF8' g 305 1 BSBW  REPORT_ERR
FCFS5' 0 8;83 } g o 1cx BSBW ERR
0308 1 % SRELEASE RAB=R7 ,ERR=REPORT_ERROR; release it
FCE3Z' 30 031A 4 BSBW
0310 189
10 190 $GET RAB=R8,ERR=REPORT _ERROR ; now get it
FCDI' 30 033¢  10] BSBW  ERR - ’
F 195 $GET RAB=R8 ,ERR=REPORT_ERROR ; and another
Sl R A
= 3 s shou ai
oy 3o R g R
S% 199 FIELD <Rl? RiIURNED STATUS CODE>
S5 FCE4 CF 6 193 MOVAL RAB1.R10
FC90* 90 19 BSBW  REPORT_ERR
FC8D' 00 BSBW ERR
7 81 OK_LCK1:
7 i $FREE RAB=R8,ERR=REPORT_ERROR ; free both records
FC78' 30 0 SBW ERR g
4 GET RAB=R7 ,ERR=REPORT_ERROR A
FC69' 30 4 5 BSBW ERR : should get it this time
02 38 A7 ?1 97 9 CMPL RABSL BKT(R7) .42 : should have been 2nd
15 3 95 BEQL BKT OR
90 s FIELD <BKT IN RAB (RECORD NUMBER)>
B2 BKT_OK:




Al

1E A8 1
FE9A CF 38 A8

FC%O
00018039 8F 2
1

04 A8 00040000 BF

FESE CF
FBES'
10 A8

FE43 CF

10 A7

FBCY
00018039 8F ?g

10 AB 10 A7
000181A0 8F 50
20

SA  FCOF _CF

04 A8 00040000 8F

TEST RECORD LOCKING ;

OO0 O00O0O0O0O0O0O0O0O0O0O0O0O0O0OOOCOOOOOODOOOOOOCOOOOOOOOO

IRl It Dl A A e ARt 2t 2E 2 3 22 3k L T v
OV OVOO = B NP VNNOM NS NN =2 <2 ) 0 3> OO NC © MO0 £~ =2 NONININININININININOND

AN = OO 00 NON WV S AN =24 OO 00 N0 N 8~ N = © O 00 N O W AN = OO 00 NOM N S Lih) —

000000 COCOONONON NI S NINIWININININ) = = 2 O O MMM © e ¢ 0D 00 00 O 0D o O O 00 0
VAV ES 85 85 85 85 85 85 85 4 £ W N U NN NN N AN PO N PO PN PONONIND = b b b e o o e ek

MNONNININLNINNININININIPON NN NN

o
x
o
=

test 2
one stroan nou. using nanual logking gets a record
cceeds with the code alrcad{ locked
hon both)
lready locked

OK_ALK:

OK_ALK1:

1n it tries to go}

fting to outonat r it gets the ? nd
so when it tries to g oi the

but this released the 2nd record, so when it tries to release tho end,

FIELD
Mova

SRELEASE
CMPL

BEQL
FIELD
MOVAL
BSBwW
BSBw

" BISL

N 10
18T3EP- 1980 BL:iahis YoM S taene 24500 n 1

again,
record (actuolly ocking
n, it succeeds w/ the code, a

st aga
2AB=R8 ,ERR=REPORT_ERROR
#RABSC KEY nAssa nAc(Ra)
RABSL BKT(RS8)

2A==Rl Ennsnsﬁoar _ERROR :
no na:ss OK_ALK ;

<RETURNED SUCCESS CODE>
#RABSM_ULK,RABSL_ROP(R8);

KEY
gAB =R8,ERR=REPORT_ERROR

; get a record

control which rec.
move rec. # into key
get same one

funny success

shift to automatic
; get next record

; get 2nd rec.
maintaining hold on 1st
RABSW_RFA(RS) ,RABSW afA(hr). save rfa for
: release of 2nd
KEY : get 1Ist again, making sure it
: was still locked
2A8=R3 +ERR=REPORT_ERROR ; releasing 2nd one

RO, IRHSS OK_ALK

0K _ALK1

<RETURNED SUCCESS CODE>

RABSW_ RFA(R?) RABSW RFA(RB). restore rfa for release

R8 ; release 2nd one
50 :RES& RNL : r0 = rec. not locked?
<RAS RETURNED ERROR CODE>
RABZ2,R10
EEPoﬁT ERR ; report error

#RABSM_ULK ,RABSL _ROP(R8); back to manual

— e e ey

o

it fails

R¥
v(
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RMSTESTS TEST RECORD LOCKING ; 16=SEP=1984 01:48: AX/VMS Macro V04-00 Page
voi-sao g-SE -1984 84:3?:29 UETP.SRC’RHSIESTS.HAR:I - (8)

494

:.§.«. &

494 3 ; test 3

494 : with manual locking, get 1st record, locking it

494 60 ; second user can't get it

494 61 ; update it suciossfully. which will not unlock it

232 2 : S0 when updating it again, it will succeed because it's still manually Llocked

494 64

FOCF CF O D0 0494 65 MOVL #1,KEY ; 1st record

499 66 $GET  RAB=R8,ERR=REPORT_ERROR : get w/ manual locking

FBSS' 38 4LA8 ) BSBW ERR
1€ A7 01 4LAB 268 MOVB  #RABSC_KEY,RABSB_RAC(R7)
GLAF 99 $GET RAB=R s try to get same record
000182AA 8F 50 D1 04BS8 0 CMPL RO,#RMSS_RLK
20 13 04BF 71 BEQL RLK_OK
4C1 7; FIELD <RMS STATUS CODE>
SA  FB76 CF 8 406 7 MOVAL RAB1,R10

FB22" 4B 274 BSBW  REPORT_ERR
FB1F' 30 OQ4DE 75 BSBW ERR

8651 79 RLK_OK:

04 AB 00040000 8 CA O0Q4E1 7 BICL #RABSM_ULK,RABSL _ROP(R8); switch to automatic

04E9 78 SUPDATE RAB=R8,ERR=REPORT_ERROR
FBOS' 30 04F8 79 BSBW ERR

04FB 80 $FIND RAB=R8,ERR=REPORT_ERROR ; get a current record
FAF3' 30 050A 81 BSBW ERR : this should not fail

050D 8§ SUPDATE RAB=R8,ERR=REPORT_ERROR ; this should succeed
FAE1' 30 051C 8 BSBW ERR _

051F 84 SRELEASE RAB=R8,ERR=REPORT_ERROR; this should not fail
FACF*' 30 OS§E 585 BSBW ERR

0531 286 STS_OK:




(8
38218365 TEST RECORD LOCKING ; 1?-SEP-1335 81:3?:;9 AX/VMS Macro V04-00 Page

-SEP-1984 UETP.SRCIRMSTESTS.MAR; 1
test &
04 A7 B
gk A8 §1 D S
FD2A CF |
FD17 CF D6
04 AB D4
0

asynchronously do 2 gets on records in the same bucket

MOVL #RABSM_ASY ,RABSL _ROP(R7)
MOVL lRAB‘H “ASY.RABSL” -ROP(R8)

$GET aeésa; ERR=REPORT _ERROR ; gets 1st record
RAB-R9 .ERR=REPORT_ERROR ; gets 2nd record

RAB=R8 : wait them out
RABSL _ROP(R8) ; rop in r7 will be set soon

that's it for test &

NN N SN N NON O WSS WU NN AN N NN NN

VIO O =20 MPOWN—= S a0
NOMN S AN = OO 00 NN NS LN — OO 00
=
o
<
| g

LR TR T

OO0O0O0OOOOOV VYV VOV VOOV

wvilvauiuvvuiiuviuivwauiub
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RMSTESTS TEST RECORD LOCKING : 16-SEP=1984 01:48:40 VAX/VMS Macro VO04=00 >
002600 8-SEP-198¢ 0030160 HOMINMEPaene Y2420 a1 Paoe 8,

7
7 3
4 ; test S
7 ; do threee tests, qcttina the same record with each rab
7 ; Wwith no lockin? sugposc ly.
7 ; 1st, set the nlk bit. then the rlk bit. and then Let fac=get
; ; all these should cause no locking
7 L]
04 A7 00100000 8F D 7 MOVL #RABSM _NLK,RABSL ROP(R7)
S o AEn e e
: try to get the rec t
04 A7 0080000 8¢ B0 MOVL  #RABSM_RLK,RABSL_ROP(R7)' —~ =9 i Badas,
4 A8 01092?9 c; D0 ?agt :gQBSH_NLK.RAasL_ROP(RB); can't try to lock record
811 gs BSBW GET_TWO
00018021 8F 08 A8 D1 059 CMPL  RABSL_STS(R8) ,#RMSS_OK_RLK
1 13 A BEQL RLK_OR
a ot OKZ-FIELD <RMS SUCCESS CODE>
04 A7 00010000 gr 00 777 MOVL  #RABSM_LOC,RABSL_ROP(R7); locate mode
04 AB GO010000 8 DO MOVL #RABSM_LOC,RABSL_ROP(R8); diito
FAG CF 02 90 MOVB #FABSM_GET,FABSB_FAC+LOCK_FAB; only get access

: have to reopen file w/ fac=get

O O TN M A T i niua i VT I i AaaIVvILVA

SO STMPROTNDNNNNNNSOUMD OOVOWVMS =R TMOOOO00OOm Ungbﬂ OO WO

OOOOggOOCOOOOOOOOOOOOO

close up

WNES AN = O O 00 NON N ES LN = O O 00 NON N S N = O O 00 NON LSS LN = © O 00 NOM N ES NN = O 0 G0 NN S LN — OO

ONONONONONON WU SS 85 85 85 85 85 85 85 85 55 Ll L W W U W U A A PO PO PO PO PO PO PRONI NN =3 b b 5 e e ed e e b O

C
¢
D
D
D
g
D $OISCONNECT RAB=R7,ERR=REPORT_ERROR
FATE' 30 05D BSBW  ERR
£ $DISCONNECT RAB=R8,ERR=REPORT_ERROR
FAOC' 30 OSF BSBW  ERR
F $CLOSE FAB=LOCK_FAB,ERR=REPORT_ERROR
FOF8' 30 060 BSBW  ERR
0 SOPEN  FAB=LOCK_FAB,ERR=REPORT_ERROR
F9E4' 30 061 BSBW  ERR
1 SCONNECT RAB=R7,ERR=REPORT_ERROR
F9D2' 30 06 BSBW  ERR
é $SCONNECT RAB=R8,ERR=REPORT_ERROR
F9CO0' 30 06 BSBW  ERR
FC24 CF D7 064 DECL  KEY
0068 30 62 BSBW  GET_TWO
i By
4 : clean up
g B
1€ A7 80 90 064 MOVB  #RABSC_SEQ,RABSB_RAC(R7)
1€ A8 9 90 064 MOVBE  #RABSC SEQ,RABSB RAC (R8)
8« A7 D& 064 CLRL aaask ROP(R7)
04 A8 ggoaoo 08 D 2 MOVL  #RABSA_ULK,RABSL_ROP(R8)
FO9B7 CF 01 ¢ BISL  #FABSM PUT,FABSB FAC+LOCK_FAB
F9B2 CF 08 ¢ gg BISL  #FABSM_UPD,FABSB FAC+LOCK FAB




A

F98A’
F978"
F964°

30
30
30
05

:
9
9

8000‘

3
C
1

:

NNNNNO

TEST RECORD LOCKING

£ NN = OO0~

£ 11
16-SEP=1986 01:48:40 VAX/VMS Macro V04=00
8-3EP-198¢ 0ai30:8d YOKIEMSaPasne Y2458,
cou:gg; RAB=R7,ERR=REPORT_ERROR
COMMECT  RAB=RB, ERR=REPORT_ERROR
St FAB=LOCK_FAB, ERR=REPORT_ERROR

1
B8
1
8
L
B E

NISH <LOCKING TESTS>
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RMSTESTS TEST RECORD LOCKING ; 16-SEP-1984 01:48:4 AX/VMS M 4=
o g-SEP-1984 85;2?:59 ! cro V04-00 Page 10

UETP.SRCIRMSTESTS.MAR; 1 (14)
76 GET_TwO:
i% 7% GET.

79 : subroutine to get the same record w/ two rabs
: and then compare the results

$GET 2a==n7.£na-nepoat_ennon
GET gagsaa.ennsnepoat,ennon
CMPY  RABSW RSZ(R7),RABSW_RSZ(R8)
RSZ _OR
FIELD <RS2>
" CMPC3 :egSgKRSl(RT).iRABSL_RBF(R?).aRABSL_RBF(RO)
PIELD <RECORDS>

F93C* 30
F92A* 30
& &
22 AB 22 1; ?l

28 B8 2887 22 A7 %9
15 3

05 § 8
1

o
333353333
~O O O O 0 O 00 Co00 00 0O QD OO COCDCD ~N ~J

VIS IR = OO0 NN NS iR —O
@D
m
o
P




RMSTESTS

Symbol table
gt.PSECT_EP

$$ . TMPX1
SSRMSTEST

$SRMS_PBUGCHK
$SRMS_TBUGCHK
$SRMS "UMODE

BEGPUT
BEG_DESCR
BKT_!

B e e
% g
g

O M AN AN AT

4+ 4
cEZIE22

RABSC_KEY

82

OO =20 NOOTD

i

it't.tt.
LA AR A2

00000382

"'tt"t

§0008

OO0 O00O0O
<DCM°K><>CND<>C"D

(=lolelelelel]

A2 222
LA s 2 dld 2]
LA 2322 ] ]
kbR

i
i

LA A2l ] ] ]

OO0 000O0000U00U00O0000o0o00Y ©

€ ¢ > >

(=B =lelelelel]
pury

TEST RECORD LOCKING

— b b =D

bt ol ol et

ot ) e ) el s e e

RABSV_ULK
RABSW_RFA
RAB%H RSZ
RABZ

REPURT ERR

REPORT_ERROR

RLK_OK™
RLK-0K2

RMSS_OK _ALK

RMSS_RNL

RMTSTEST_SA

RSZ OK
STS
SYS’CLOSE

SYSSCONNECT
SYSSDISCONNECT

'§5EoioRe Buiatish MOE

1
E?

TR RREY
LA AR d 2]

LA AR d ]
kb htnd
LA 222l
AR ARNRNN
L 222228
LA 2] ]
LA SR A S]]
LA AR A 2]
Rt RE
1222222

C

00000000 RG D

(=lelelelelelelelelelelelels]

e D el e e ) ) e e D i i

—d D D D d md D

V04=-00
T ST5.MAR;1

Page 11
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RMSTESTS TEST RECORD LOCKING ; 16-SEP=1984 01:4
Psect synopsis g -SEP- 1984 8 2? ;9
e L *
i Psect synopsis !
PSECT name Allocation PSECT No. Attributes
" ABS i 8 9?0 ( 8.) 0 ( ?.) NOPIC USR ABS LCL NO
RMSTEST 1 ( 1809.) 01 ¢ .) NOPIC WUSR CON REL GBL NOSH
$iBSS 8 80 ( 2.) § ( ;.) NOPIC USR CON ABS LCL NO
SRMSNAM 8 F C 15.) ( .) NOPIC WUSR CON REL LCL NO
“_SRMSNAM 0 CE ( 206.) 04 ( 4.) NOPIC USR CON REL LCL NO
e ewe —m e e m oo e - we® e - e -
i Performance indicators 1
Phase Page faults CPU Time Elapsed Time
Initialization gg 00:00:00.09 0:80:0 .55
Command processing 1 00: 8: 0.62 :00: .;
Pass 1 268 0:00:09.14 :00:21.
Sylbol table sort 0: 8: .56 :00:01.1
s 2 8 0:00: .86 0:00:05.24
Sylbol table output 1 88: 0:00.09 0:00:00.21
Psect synopsis output :00:0 .Os 0: 8:00.
Cross-reference output 00: o:og.g 0: :80.0
Assembler run totals 541 00:00:12.78 00:00:31.1

working sc; limit uas 1350 pages.

49 1b ytos (9 pages) of virtual memory were used to buffer the intermediate code.

1h§ro were 30 pages of symbol table space allocated to hold 573 non-local and 0 Local symbols.
source linos were read in Pass 1, producing 49 object records in Pass 2.

40 pages of virtual memory were used to define 34 macros.

4 ----------------------- =t
! Macro library statistics l

Macro Library name Hacros defined
‘gsgSOUAS SYS.0BJILIB.MLB;1 ?
S5$DUA28: [SYSLIBISTARLET. HLB 2 S

TOTALS (all Llibraries) 1

801 GETS were required to define 21 macros.
There were no errors, warnings or information messages.
MACRO/LIS=LISS:RMSTEST5/0BJ=0BJS:RMSTESTS MSRCS:RMSTESTS/UPDATE=(ENHS:RMSTESTS) +EXECMLS/LIB

B —

Page 12

Macro V
UETP.SRCIRMSTESTS5.MAR; 1 (14)

NOWRT NOVEC BYTE
WRT NOVEC LONG
WRT NOVEC BYTE
WRT NOVEC BYTE
WRT NOVEC BYTE

mmmmm
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